Math 2471 Calc 3 - Homework #2
Pg. 852, #3, 5, 15,17, 47, and 50
Pg. 852, #25, 39, and 40

Find the unit Tangent vector for the following

#3 T =27 42, t=1

2
# T7(t)=5costi +5sint], t =m/3

Find the unit Normal vector for the following

Find the Binormal vector for

#47 7T (t) =2costi +2sintj —|—§k, t=rm/2

#50 7(t) =< 2¢',e' cost,e' sint > forall t.

Calculate the unit Tangent and unit Normal vectors for the following

(i) 7(t) =< (t—1)e' —1,(t—1)et +1>,
(ii) 7(t) = <3t4cost,4sint >,

Find the tangential and normal components of acceleration for the following:

N 1
#5 F(t) =<t > att=1
#39 7(t) = <e'sint, e’ cost, e’ > forall t.
#40 7(t) =< e, 2t,e’! > forallt.

Due: Friday June 17, 2022



